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Analysis of TCP Parameters
on Data Transfer through a Wireless Network
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Ochanozmi Univ. Kogakuin Univ.

In this paper, we analyze TCP parameters on data transfer through a wireless network.
By adding monitor function in a Kernel source code, we can see actions of TCP parameters.
In addition, we visualize time change of throughput and packets transportation timing. We
analyze the behavior of TCP based on them.

First, we communicate on a simple network environment, so that we can see actions of
basic TCP parameters. Next, we communicate on a more complex network environment,

in which wired and wireless LANs are connected.
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